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CIT.1

C9T.2

CIT.3

C9T.4

A particle moving along a circular path 10 cm in ra-
dius-moves at a speed of 50 cm/s. Its angular speed is
A.50rad/s

B. 5rad/s

C.0.2rad/s

D.1.26 rad/s

E. 900° 51

E Other (specify)

A merry-go-round makes a complete revolution
once every 6.28 s. What is the speed (in meters per
second) of a horse 5 m from the merry-go-round’s
center?
A.0.80m/s

B. 1.0m/s
C.1.26 m/s
D.5.0m/s

E. 314m/s

E Other (specify)

A cylindrical barrel is rolling on the ground toward

you. Its angular velocity points

A. To your right.

B. To your left.

C. Toward you.

D. Away from you.

E. Toward you at the top, away from you on the
bottom. ‘

E Other (specify).

Abicyclist passes in front of you, moving perpendic-
ular to your line of sight from your left to your right.
The angular velocity of its wheels points roughly

A. To your right.

B. To your left.

C. Toward you.

D. Away from you.

E. To your right at the top, to your left on the bottom.
E Other (specify).



C9T.5

C9T.6

C9T.7

CIT.8

C9T.9

Four point particles, each with mass 1M, are con-
nected by massless rods so that they form a square
whose sides have length L. What is the moment of in-
ertia I of this object if it is spun around an axis going
through the center of the square perpendicular to the
plane of the square?

A. %MU

B. é—ML2

C. %ML2

D. %ML2

E. ML?

E Other (specify)

What would be the moment of inertia I of the square
described in problem C9T.5 if it were spun around
an axis going through one particle and its diagonal
opposite?

A, =ML?
B. IML?

C. i1ML?

D. 2 ML?

E. ML?

E. Other (specify)

Two wheels have the same total mass M and ra- -

dius R. One wheel is a uniform disk. The other is like

a bicycle wheel, with lightweight spokes connecting

the rim to the hub. Which has the larger moment of

inertia?

A. The solid disk.

B. The wheel with spokes.

C. There is insufficient information for a meaningful
answer. :

A solid ball and a hollow ball are released from rest at
the top of an incline and roll without slipping to the
bottom. Which reaches the bottom first?

A. The solid ball.

B. The hollow ball.

C. Both balls arrive at the same time.

D. It depends on the masses of the balls.

A 10-kg sphere with a radius of 10 cm spinning at
10 rotations per second has a rotational kinetic
energy of ‘

A.5]

B. 10]

C. 317

D.637

E. 5007

F. Other (specify)




